Il 2.

TN

ol i

i

—
' — |

d

1
-

;I

erese. \_3

<3

18

A

»
r

194

- o
crese N

®)



UAR

poco animando

16l 6 17 2

Cir—1r—

DA

¥

LA - N L

¢

)

N A
—




24

3 [Ei](‘ =138) — - S P
%-_‘ Y > - G - ; - | I .. - |
) I L * ) | vy
) - . 17, - 7}F =
fﬁ esfress. m,z,o dim. PP @ Largamente (. =006)
Yo © H'G-
D) crese. jff
> |
>. 1 ~ —ﬁ ; 1 oh 5
=s== ?
= = == = > ¥5€ T~ Jf——
le AN
—~ = = S e F T — =
A W} |
S.f — k == 3 [—— ~— — = o
S : =

~ — P ——
rallentando  Pili mosso

e

=

o

a tempo con tutta forza Yy
> 2 2 BB R (=84 g510 N
e e 1 e S e e x e e 32

W

—

*d

fo




